V=031 AR VIESCEITE R R 2 (2006. 3)

1.
TV
1 1
fc |wW/C| s/a (kg/m°)
 (N/mmA ] ) [ ®w [ w ] C |]FA] S |Gl | G2
10 50 | - | 251 | 101 | 402 [1509] - - - s/c=3_R=80%
30 49 346 | - | 816 | 465 | 697 1072 |AE Clkg 2.5ml
50 33 | 44 | 170 [ 508 | - | 758 | 432 | 648 2.792 AE 0.55%
70 25 669 | - [ 699 | 399 | 598 16.067 AE 2.40%
2.
1 10>20cm 2 2
w/C | s/a (kg/m”°)
, m | w W cC S [ 61 | G2 [ AE AE
NPC(  3.16g/cm?) 40 | 44 | 170 | 425 | 736 | 629 | 420 | 1328 | 0.850
(2.56g/cm?)  FA(2.32g/cm?) 55 | 47 | 170 | 309 | 837 | 626 | 417 | 00966 | 0618
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V=031 AR VIESCEITE R R 2 (2006. 3)

_ 2 2
3 (m/s) (m/s)
N/mm? | 100kHz| 50kHz| 50kHz| N/mm? | 100kHz[ 50kHz| 50KkHz
10N/mm? 10N/mm?
1 18 1421 - - 18 1906 - -
3 29 2171 - 2093 25 2137 824 2160
7 5.0 2371 1390 | 2338 338 2432 1363 | 2349
14 6.0 2603 1461 | 2518 4.4 2673 1555 | 2617
30N/mm? 30N/mm?
1 208 4167 - - 208 4199 - -
3 24.9 4090 - - 22.7 4270 - -
7 29.7 4301 1963 | 3885 26.0 4470 1783 | 3975
14 | 311 4375 2074 | 3888 29.6 4490 1980 | 3972
50N/mm? 50N/mm?
1 393 4473 - - 39.3 4458 - -
3 46.0 4491 - - 415 4573 - -
7 47.1 4660 2175 | 4178 418 4740 2141 | 4142
14 | 532 4576 2320 | 4187 475 4744 2108 | 4217
70N/mm® 70N/mm®
1 48.7 4478 - - 48.7 4412 - -
3 50.6 4620 2354 | 4232 48.2 4618 2301_| 4163
7 63.8 4762 2491 | 4265 59.7 4646 2382 | 4229
14 | 629 4784 2538 | 4331 49.9 4788 2419 | 4301
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